BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
MARCH 13, 2025
LIA ENGINEERING, INC.
S. YOUNG

MARCH 13, 2025

6969-1440 (9.2)

\$5,937,000.36

BIDDER NAME	BASE BID	ALTERNATE ITEMS PLUS BASE BID
1) DNT CONSTRUCTION LLC	\$4,510,000.00	\$4,960,000.00
2) RT ELLIS EXCAVATING INC	\$4,565,873.35	\$5,049,873.35
3) NORTHTEX CONSTRUCTION, LLC	\$4,637,483.51	\$4,822,055.77
4) CE BARKER LTD.	\$4,953,483.00	\$5,472,983.00
5) NORTH HOUSTON TANDEM, INC.	\$5,018,716.50	\$5,413,900.50
6) TEXAN DIRT, LLC	\$5,389,670.00	\$6,126,070.00
7) R CONSTRUCTION CIVIL, LLC	\$5,597,463.00	\$6,457,463.00

CALENDAR DAYS 120/140

8) LONGHORN EXCAVATORS, INC.

I, JAMES KUZELKA, P.E., hereby certify these bid tabulations to be true and correct.



\$6,497,676.36

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE MASS GRADING AND DETENTION
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
MARCH 13, 2025
LIA ENGINEERING, INC.

S. YOUNG MARCH 13, 2025 6969-1440 (9.2)

				1) DNT CONST	TRUCTION LLC	2) RT ELLIS EXC	CAVATING INC	3) NORTHTEX COI	NSTRUCTION, LLC	4) CE BAR	KER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1. F [] (EXCAVATION ITEMS POND EXCAVATION INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS (0.5-1 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	328600	\$3.30	\$1,084,380.00	\$3.45	\$1,133,670.00	\$3.27	\$1,074,522.00	\$4.00	\$1,314,400.00
[POND EXCAVATION INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED STOCK PILE ONSITE USING OFF ROAD TRUCKS (0.5-1 MILE), INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	100000	\$3.00	\$300,000.00	\$3.00	\$300,000.00	\$2.93	\$293,000.00	\$4.00	\$400,000.00
[5	RIGHT OF WAY EXCAVATION INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS, (0.0-0.5 MILE), STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	109900	\$3.00	\$329,700.00	\$3.00	\$329,700.00	\$3.75	\$412,125.00	\$4.00	\$439,600.00
9	BACKSLOPE INTERCEPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	10500	\$1.85	\$19,425.00	\$3.00	\$31,500.00	\$4.81	\$50,505.00	\$1.50	\$15,750.00
6. I I	DRAINAGE SWALES, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE INSTALLATION AND REMOVAL OF LOW WATER CROSSING DURING DURATION OF THE PROJECT, INCLUDES TWO 36" CGMP, REMOVAL AND DISPOSAL OF CGMP AND RESTORING THE SITE AND SLOPES BACK TO ORIGINAL CONDITION OR BETTER, COMPELTE IN PLACE	LF EA	15000 1	\$2.00 \$40,300.00	\$30,000.00 \$40,300.00	\$1.00 \$5,000.00	\$15,000.00 \$5,000.00	\$3.28 \$14,479.75	\$49,200.00 \$14,479.75	\$1.00 \$6,500.00	\$15,000.00 \$6,500.00
,	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF CULVERT CROSSING, INCLUDES DEWATERING AND ALL APPURTENANCES (AS DIRECTED BY THE ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$15,100.00	\$30,200.00	\$5,000.00	\$10,000.00	\$10,430.22	\$20,860.44	\$3,500.00	\$7,000.00
	BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS. (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	14	\$345.00	\$4,830.00	\$800.00	\$11,200.00	\$1,027.84	\$14,389.76	\$250.00	\$3,500.00
SUBTOTA	L BASE BID EXCAVATION ITEMS			_	\$1,838,835.00		\$1,836,070.00	_	\$1,929,081.95	_	\$2,201,750.00
1. 3	DRAINAGE FACILITIES 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	103	\$172.00	\$17,716.00	\$183.75	\$18,926.25	\$155.98	\$16,065.94	\$190.00	\$19,570.00
	48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	500	\$256.00	\$128,000.00	\$275.10	\$137,550.00	\$236.00	\$118,000.00	\$200.00	\$100,000.00
	B' X 5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	500	\$928.00	\$464,000.00	\$871.50	\$435,750.00	\$787.22	\$393,610.00	\$1,400.00	\$700,000.00
2	BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CGMP, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	16	\$7,350.00	\$117,600.00	\$8,715.00	\$139,440.00	\$12,844.62	\$205,513.92	\$5,000.00	\$80,000.00
	CUT 36" STORM SEWER OUTFALL PIPE TO MATCH SIDE SLOPE, COMPLETE N PLACE	EA	2	\$955.00	\$1,910.00	\$399.00	\$798.00	\$422.81	\$845.62	\$1,000.00	\$2,000.00

FRN F-1386

LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LA BROINEERING, INC. S. YOUNG

MARCH 13, 2025

6969-1440 (9.2)

			4) DAIT CONO	EDITOR I C	2) DT 51.10 51	CALVATING INC	2) NODTHEEN 60	NCTPLICTION IIIC	4) 05 5 5 5	(ED LTD
			1) DNI CONS	TRUCTION LLC	2) KI ELLIS EX	CAVATING INC	3) NORTHTEX CO	NSTRUCTION, LLC	4) CE BARI	CER LID.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
CUT 48" STORM SEWER OUTFALL PIPE TO MATCH SIDE SLOPE, COMPLETE IN PLACE	EA	8	\$1,315.00	\$10,520.00	\$630.00	\$5,040.00	\$660.65	\$5,285.20	\$1,300.00	\$10,400.00
7. CUT 8' X 5' CONCRETE BOX OUTFALL TO MATCH WING WALLS, COMPLETE IN PLACE	EA	8	\$1,790.00	\$14,320.00	\$1,050.00	\$8,400.00	\$1,321.29	\$10,570.32	\$1,600.00	\$12,800.00
8. WING WALLS FOR 8' X 5' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	2	\$34,000.00	\$68,000.00	\$81,900.00	\$163,800.00	\$43,330.91	\$86,661.82	\$75,000.00	\$150,000.00
9. 4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	180	\$125.00	\$22,500.00	\$102.90	\$18,522.00	\$157.26	\$28,306.80	\$80.00	\$14,400.00
10. 5" REINFORCED CONCRETE PILOT CHANNEL, COMPLETE IN PLACE	SY	6600	\$103.00	\$679,800.00	\$102.90	\$679,140.00	\$94.95	\$626,670.00	\$85.00	\$561,000.00
11. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$47.00	\$4,700.00	\$50.00	\$5,000.00	\$27.21	\$2,721.00	\$50.00	\$5,000.00
12. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1103	\$1.00	\$1,103.00	\$2.00	\$2,206.00	\$0.63	\$694.89	\$1.00	\$1,103.00
13. 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	1000	\$109.00	\$109,000.00	\$105.00	\$105,000.00	\$136.89	\$136,890.00	\$90.00	\$90,000.00
14. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	500	\$3.25	\$1,625.00	\$3.00	\$1,500.00	\$2.93	\$1,465.00	\$2.00	\$1,000.00
15. ECC-3 TRIPLE NET TURF REINFORCEMENT MATTING, INSTALLED PER MANUFACTURER'S RECOMMENDATIONS, COMPLETE IN PLACE	SY	350	\$5.00	\$1,750.00	\$11.55	\$4,042.50	\$24.76	\$8,666.00	\$45.00	\$15,750.00
16. 24" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	60	\$61.00	\$3,660.00	\$89.25	\$5,355.00	\$97.90	\$5,874.00	\$115.00	\$6,900.00
17. 30" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	120	\$76.00	\$9,120.00	\$108.15	\$12,978.00	\$106.83	\$12,819.60	\$130.00	\$15,600.00
18. 42" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	64	\$120.00	\$7,680.00	\$155.40	\$9,945.60	\$153.57	\$9,828.48	\$190.00	\$12,160.00
19. REINFORCED CONCRETE TYPE "E" INLET, THREE SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$7,030.00	\$28,120.00	\$4,410.00	\$17,640.00	\$3,230.95	\$12,923.80	\$7,500.00	\$30,000.00
20. 8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$600.00	\$2,400.00	\$525.00	\$2,100.00	\$663.25	\$2,653.00	\$1,250.00	\$5,000.00
21. REINFORCED CONCRETE PIPE STORM SEWER OUTFALL STRUCTURE, INCLUDES 2' TOE WALL ALL AROUND, 2' CLAY LINER BELOW ALL SLOPE PAVING, 4:1 S.E.T., AND STAINING OF SLOPE PAVING (COLOR TO BE DETERMINED BY THE DEVELOPER), 2' BELOW NORMAL WATER SURFACE ELEVATION PER DETAIL, INCLUDES 4" CONCRETE SLOPE PAVING, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$7,000.00	\$28,000.00	\$6,405.00	\$25,620.00	\$14,033.14	\$56,132.56	\$3,000.00	\$12,000.00
SUBTOTAL BASE BID DRAINAGE FACILITIES			_	\$1,721,524.00	_	\$1,798,753.35	_	\$1,742,197.95	_	\$1,844,683.00

BASE BID MISCELLANEOUS ITEMS

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LJA ENGINEERING, INC.

S. YOUNG MARCH 13, 2025 6969-1440 (9.2)

				1) DNT CONS	STRUCTION LLC	2) RT ELLIS EX	CAVATING INC	3) NORTHTEX CO	ONSTRUCTION, LLC	4) CE BAR	KER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$6,291.00	\$6,291.00	\$3,500.00	\$3,500.00	\$3,890.58	\$3,890.58	\$2,500.00	\$2,500.00
	MAINTAIN EXISTING STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$4,835.87	\$4,835.87	\$1,500.00	\$1,500.00
	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE LIA SURVEYING, INC. FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE HIGH BANK, TOE, OVERFLOW SWALE, STORM SEWER, OUTFALLS, AND SLOPE PAVING AS OUTLINED IN THIS BID PROPOSAL. ANY RESTAKING REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED TO THE CONTRACTORS ON A TIME AND MATERIALS BASIS AND IS SEPARATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$62,800.00	\$62,800.00	\$62,800.00	\$62,800.00	\$62,800.00	\$62,800.00	\$62,800.00	\$62,800.00
	DETENTION BASIN AND FILL AS-BUILT SURVEYING, (AS PER LIA SURVEYING, INC.), COMPLETE IN PLACE	LS	1	\$31,800.00	\$31,800.00	\$31,800.00	\$31,800.00	\$31,800.00	\$31,800.00	\$31,800.00	\$31,800.00
	METHOD "A" CONSTRUCTION STAKING BY CONTRACTOR, CONTRACTOR TO USE LIA SURVEYING, INC. FOR CONSTRUCTION STAKING, TO INCLUDE STAKING AT 100' INTERVALS FOR THE FILL OF FUTURE SECTIONS AS OUTLINED IN THIS BID PROPOSAL. ANY RESTAKING REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED TO THE CONTRACTORS ON A TIME AND MATERIALS BASIS AND IS SEPARATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,350.00	\$1,350.00	\$1,500.00	\$1,500.00	\$1,402.04	\$1,402.04	\$1,000.00	\$1,000.00
	OVER EXCAVATION OF UNSUITABLE MATERIAL PRIOR TO FILL PLACEMENT WITHIN FILL AREAS, INCLUDES EXCAVATION, DEMUCKING, SPREADING OF UNSUITABLE MATERIAL, AND PLACEMENT OF MATERIAL AS FINAL LIFT UPON COMPLETION OF FILL (AS DIRECTED BY THE ENGINEER AND TO BE SURVEYED AND VERIFIED BEFORE FINAL PAYME NT), COMPLETE IN PLACE	CY	10000	\$4.30	\$43,000.00	\$1.50	\$15,000.00	\$3.40	\$34,000.00	\$2.00	\$20,000.00
	ADDITIONAL COST TO SCARIFY FILL AREAS TO RECEIVE FILL TO DEPTH OF 12 INCHES TO AERATE THE SUBGRADE SOILS AND RE-COMPACT TO 95% STANDARD PROCTOR DENSITY (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	10	\$950.00	\$9,500.00	\$1,000.00	\$10,000.00	\$1,149.91	\$11,499.10	\$500.00	\$5,000.00
	ADDITIONAL COST TO SCARIFY FILL AREAS TO RECEIVE FILL TO DEPTH OF 24 INCHES TO AERATE THE SUBGRADE SOILS AND RE-COMPACT TO 95% STANDARD PROCTOR DENSITY (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	10	\$1,175.00	\$11,750.00	\$1,200.00	\$12,000.00	\$1,916.52	\$19,165.20	\$500.00	\$5,000.00
	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$59.00	\$5,900.00	\$25.00	\$2,500.00	\$38.32	\$3,832.00	\$50.00	\$5,000.00
	BROADCAST SEEDING OF ROW OR RESERVES, PROVIDED BY STUCKEYS LLC, MARCH - OCTOBER (WARM SEASON), 50# HULLED BERMUDA, 100# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER	AC	200	\$850.00	\$170,000.00	\$850.00	\$170,000.00	\$850.00	\$170,000.00	\$850.00	\$170,000.00
	BROADCAST SEEDING OF DETENTION POND BOTTOMS, PROVIDED BY STUCKEYS LLC, MARCH - OCTOBER (WARM SEASON), 50# HULLED BERMUDA, 100# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER	AC	28	\$850.00	\$23,800.00	\$850.00	\$23,800.00	\$850.00	\$23,800.00	\$850.00	\$23,800.00 FRN F-138

FRN F-1386

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
MARCH 13, 2025
LJA ENGINEERING, INC.
S. YOUNG
MARCH 13, 2025

			1) DNT CONS	STRUCTION LLC	2) RT ELLIS EX	CAVATING INC	3) NORTHTEX CO	INSTRUCTION, LLC	4) CE BARI	(ER LTD.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
13. HYDRAULIC SEEDING OF DETENTION POND SIDE SLOPES/BACKSLOPE SWALES & RESERVES: INCLUDING (WARM SEASON) SEEDING OF 65# HULLED BERMUDA, 125# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER AND APPLICABLE MULCH PRODUCT RELEVANT TO SLOPE STRUCTURE; SOIL TESTING, AND SOIL AMENDMENTS TO OBTAIN FAVORABLE SOIL CONDITION, PROVIDED BY STUCKEYS LLC, COMPLETE IN PLACE. HYDRAULIC MULCH APPLICATION RATES (BASED ON SLOPE) ARE AS FOLLOWS: >4H:1V AND =3H:1V; 3,500 LB/AC HIGH PERFORMANCE FGM	SY	121000	\$1.90	\$229,900.00	\$1.90	\$229,900.00	\$1.90	\$229,900.00	\$1,90	\$229,900.00
14. SOIL AMENDMENT PROFILE ALLOWANCE (INCLUDES UP TO THE FOLLOWING: APPLICATION RATE OF 5,000 LB/AC SOIL MEDIA SUCH AS PROGRANICS, PROBITIOCS, ORGANIX BIOTIC, OR EQUIVALENT), GYPSUM AT APPLICATION RATE OF 2,500 LB/AC, SLOW RELEASE NITROGEN PRODUCT AT APPLICATION RATE OF 160 LB/AC, LIQUID STIMULANTS AT APPLICATION RATE OF 5 GAL/AC, AND PH ADJUSTMENTS WITHIN 2.5 POINTS), PROVIDED BY STUCKEYS LLC, AS DIRECTED BY ENGINEER AND WHEN AUTHORIZED BY OWNER, COMPLETE IN PLACE		121000	\$2.75	\$332,750.00	\$2.75	\$332,750.00	\$2.75	\$332,750.00	\$2.75	\$332,750.00
15. MONTHLY DETENTION POND MAINTENANCE, INCLUDES WATERING VIA WATER TRUCK, RESEEDING, REGRADING OF REELS AS NEEDED, (MINIMUM 3 MONTHS) (AS DIRECTED B Y ENGINEER), COMPLETE IN PLACE	МО	6	\$1,300.00	\$7,800.00	\$4,000.00	\$24,000.00	\$4,421.47	\$26,528.82	\$1,000.00	\$6,000.00
SUBTOTAL BASE BID MISCELLANEOUS ITEMS			-	\$949,641.00	_	\$931,050.00	_	\$966,203.61	_	\$907,050.00
ALTERNATE ITEMS ALTERNATE NO. 1 ITEMS 1. 32' DEPTH SHEET PILE STRUCTURE (NZ26 OR AZ26-700 OR APPROVED EQUAL), ASTM A-572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOZY FOR THE NOP HALF AND ON BOTH SIDES OF THE SHEET PILE, COMPLETE IN PLACE	EA	1	\$380,320.00	\$380,320.00	\$400,000.00	\$400,000.00	\$85,492.64	\$85,492.64	\$466,000.00	\$466,000.00
2. 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	500	\$109.00	\$54,500.00	\$125.00	\$62,500.00	\$136.89	\$68,445.00	\$90.00	\$45,000.00
 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF CULVERT CROSSING, INCLUDES DEWATERING AND ALL APPURTENANCES (AS DIRECTED BY THE ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE 	EA	1	\$8,740.00	\$8,740.00	\$7,500.00	\$7,500.00	\$16,244.86	\$16,244.86	\$5,000.00	\$5,000.00
BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS. (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	14	\$460.00	\$6,440.00	\$1,000.00	\$14,000.00	\$1,027.84	\$14,389.76	\$250.00	\$3,500.00
SUBTOTAL ALTERNATE ITEMS ALTERNATE NO. 1 ITEMS			-	\$450,000.00	_	\$484,000.00	_	\$184,572.26		\$519,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
MARCH 13, 2025
LIA ENGINEERING, INC.
S. YOUNG
MARCH 13, 2025

				1) DNT CONSTRUCTION LLC		2) RT ELLIS E	XCAVATING INC	3) NORTHTEX CONSTRUCTION, LLC		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BID SUMMAR	RY								Y		
BASE BID EXC	CAVATION ITEMS				\$1,838,835.00		\$1,836,070.00		\$1,929,081.95		\$2,201,750.00
BASE BID DRA	AINAGE FACILITIES				\$1,721,524.00		\$1,798,753.35		\$1,742,197.95		\$1,844,683.00
BASE BID MIS	SCELLANEOUS ITEMS				\$949,641.00		\$931,050.00		\$966,203.61		\$907,050.00
TOTAL AMOU	JNT BASE BID				\$4,510,000.00		\$4,565,873.35		\$4,637,483.51		\$4,953,483.00
ALTERNATE I	TEMS										
TOTAL AMOU	JNT BASE BID				\$4,510,000.00		\$4,565,873.35		\$4,637,483.51		\$4,953,483.00
ALTERNATE N	VO. 1 ITEMS				\$450,000.00		\$484,000.00		\$184,572.26		\$519,500.00
TOTAL ALTER	RNATE ITEMS PLUS BASE BID				\$4,960,000.00		\$5,049,873.35		\$4,822,055.77		\$5,472,983.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

IN PLACE

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LJA ENGINEERING, INC. S. YOUNG

MARCH 13, 2025

6969-1440 (9.2)

			5) NORTH HOUS	FON TANDEM, INC.	6) TEXAN	DIRT, LLC	7) R CONSTRUC	CTION CIVIL, LLC	8) LONGHORN EX	CAVATORS, INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID EXCAVATION ITEMS 1. POND EXCAVATION INCLUDES HAULING EXCAVATED MATERI DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS (0 INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED COMPLETE IN PLACE	0.5-1 MILE), TAND I MAXIMUM 8''	328600	\$4.10	\$1,347,260.00	\$3.60	\$1,182,960.00	\$4.20	\$1,380,120.00	\$4.62	\$1,518,132.00
 POND EXCAVATION INCLUDES HAULING EXCAVATED MATERI DESIGNATED STOCK PILE ONSITE USING OFF ROAD TRUCKS (O INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF COMPLETE IN PLACE 	0.5-1 MILE),	100000	\$3.10	\$310,000.00	\$3.60	\$360,000.00	\$4.20	\$420,000.00	\$4.29	\$429,000.00
 RIGHT OF WAY EXCAVATION INCLUDES HAULING EXCAVATED DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS, (I STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COM +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIF APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPL 	0.0-0.5 MILE), IPACTION TO TS, AND RE-	109900	\$3.55	\$390,145.00	\$3.60	\$395,640.00	\$4.20	\$461,580.00	\$3.69	\$405,531.00
 BACKSLOPE INTERCEPTOR SWALE, INCLUDES EXCAVATION, S' STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AN APPLICATION OF STRIPPINGS, COMPLETE IN PLACE 	O 95%	10500	\$8.90	\$93,450.00	\$6.00	\$63,000.00	\$4.00	\$42,000.00	\$3.00	\$31,500.00
5. DRAINAGE SWALES, AS DIRECTED BY ENGINEER, COMPLETE I 6. INSTALLATION AND REMOVAL OF LOW WATER CROSSING DL DURATION OF THE PROJECT, INCLUDES TWO 36" CGMP, REM DISPOSAL OF CGMP AND RESTORING THE SITE AND SLOPES B ORIGINAL CONDITION OR BETTER, COMPELTE IN PLACE	JRING EA IOVAL AND	15000 1	\$8.00 \$6,176.00	\$120,000.00 \$6,176.00	\$6.00 \$28,500.00	\$90,000.00 \$28,500.00	\$5.00 \$30,000.00	\$75,000.00 \$30,000.00	\$1.80 \$18,900.00	\$27,000.00 \$18,900.00
 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAY CONSTRUCTION OF CULVERT CROSSING, INCLUDES DEWATER APPURTENANCES (AS DIRECTED BY THE ENGINEER), ALL SIZES COMPLETE IN PLACE 	RING AND ALL	2	\$11,259.00	\$22,518.00	\$0.00	\$0.00	\$25,000.00	\$50,000.00	\$15,900.00	\$31,800.00
8. BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DA EXISTING TRIBUTARY, 24 HRS. (AS DIRECTED BY ENGINEER), C		14	\$1,146.00	\$16,044.00	\$500.00	\$7,000.00	\$2,500.00	\$35,000.00	\$900.00	\$12,600.00
PLACE SUBTOTAL BASE BID EXCAVATION ITEMS			-	\$2,305,593.00	-	\$2,127,100.00		\$2,493,700.00	_	\$2,474,463.00
BASE BID DRAINAGE FACILITIES 1. 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BED BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	DING AND LF	103	\$175.00	\$18,025.00	\$225.00	\$23,175.00	\$180.00	\$18,540.00	\$179.85	\$18,524.55
2. 48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BED BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	DING AND LF	500	\$290.00	\$145,000.00	\$315.00	\$157,500.00	\$255.00	\$127,500.00	\$288.87	\$144,435.00
3. 8' X 5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	INCLUDES LF	500	\$945.00	\$472,500.00	\$1,075.00	\$537,500.00	\$1,025.00	\$512,500.00	\$1,182.66	\$591,330.00
BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUI 24" CGMP, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTI COMPLETE IN PLACE		16	\$9,462.00	\$151,392.00	\$11,000.00	\$176,000.00	\$8,000.00	\$128,000.00	\$16,896.00	\$270,336.00
5. CUT 36" STORM SEWER OUTFALL PIPE TO MATCH SIDE SLOPE	E, COMPLETE EA	2	\$500.00	\$1,000.00	\$2,800.00	\$5,600.00	\$385.00	\$770.00	\$111.00	\$222.00

FRN F-1386

LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION
TO SERVE THE BRANCHES PHASE 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219
MONTGOMERY COUNTY, TEXAS
MARCH 13, 2025
LJA ENGINEERING, INC.
S. YOUNG
MARCH 13, 2025

6969-1440 (9.2)

			5) NORTH HOUSTON TANDEM, INC.		6) TEXAN DIRT, LLC		7) R CONSTRUCTION CIVIL, LLC		8) LONGHORN EXCAVATORS, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
6. CUT 48" STORM SEWER OUTFALL PIPE TO MATCH SIDE SLOPE, COMPLETE IN PLACE	EA	8	\$500.00	\$4,000.00	\$1,650.00	\$13,200.00	\$385.00	\$3,080.00	\$111.00	\$888.00
7. CUT 8' X 5' CONCRETE BOX OUTFALL TO MATCH WING WALLS, COMPLETE IN PLACE	EA	8	\$500.00	\$4,000.00	\$950.00	\$7,600.00	\$2,500.00	\$20,000.00	\$111.00	\$888.00
8. WING WALLS FOR 8' X 5' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	2	\$14,500.00	\$29,000.00	\$78,000.00	\$156,000.00	\$100,000.00	\$200,000.00	\$38,151.00	\$76,302.00
9. 4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	180	\$76.00	\$13,680.00	\$145.00	\$26,100.00	\$141.00	\$25,380.00	\$123.18	\$22,172.40
10. 5" REINFORCED CONCRETE PILOT CHANNEL, COMPLETE IN PLACE	SY	6600	\$79.00	\$521,400.00	\$135.00	\$891,000.00	\$141.00	\$930,600.00	\$136.26	\$899,316.00
11. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$40.00	\$4,000.00	\$100.00	\$10,000.00	\$27.27	\$2,727.00
12. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1103	\$5.00	\$5,515.00	\$5.00	\$5,515.00	\$1.00	\$1,103.00	\$1.11	\$1,224.33
13. 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	1000	\$103.50	\$103,500.00	\$140.00	\$140,000.00	\$100.00	\$100,000.00	\$147.15	\$147,150.00
14. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	500	\$14.15	\$7,075.00	\$7.00	\$3,500.00	\$5.50	\$2,750.00	\$6.00	\$3,000.00
15. ECC-3 TRIPLE NET TURF REINFORCEMENT MATTING, INSTALLED PER MANUFACTURER'S RECOMMENDATIONS, COMPLETE IN PLACE	SY	350	\$11.00	\$3,850.00	\$90.00	\$31,500.00	\$29.00	\$10,150.00	\$12.42	\$4,347.00
16. 24" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	60	\$71.20	\$4,272.00	\$110.00	\$6,600.00	\$125.00	\$7,500.00	\$90.48	\$5,428.80
17. 30" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	120	\$80.00	\$9,600.00	\$135.00	\$16,200.00	\$150.00	\$18,000.00	\$107.91	\$12,949.20
18. 42" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	64	\$100.00	\$6,400.00	\$195.00	\$12,480.00	\$185.00	\$11,840.00	\$386.97	\$24,766.08
19. REINFORCED CONCRETE TYPE "E" INLET, THREE SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$3,000.00	\$12,000.00	\$8,000.00	\$32,000.00	\$3,500.00	\$14,000.00	\$4,905.00	\$19,620.00
20. 8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$500.00	\$2,000.00	\$900.00	\$3,600.00	\$1,000.00	\$4,000.00	\$1,308.00	\$5,232.00
21. REINFORCED CONCRETE PIPE STORM SEWER OUTFALL STRUCTURE, INCLUDES 2' TOE WALL ALL AROUND, 2' CLAY LINER BELOW ALL SLOPE PAVING, 4:1 S.E.T., AND STAINING OF SLOPE PAVING (COLOR TO BE DETERMINED BY THE DEVELOPER), 2' BELOW NORMAL WATER SURFACE ELEVATION PER DETAIL, INCLUDES 4" CONCRETE SLOPE PAVING, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$14,668.00	\$58,672.00	\$6,500.00	\$26,000.00	\$5,000.00	\$20,000.00	\$27,252.00	\$109,008.00
SUBTOTAL BASE BID DRAINAGE FACILITIES			_	\$1,574,881.00	_	\$2,275,070.00		\$2,165,713.00		\$2,359,866.36

BASE BID MISCELLANEOUS ITEMS

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219

MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LJA ENGINEERING, INC. S. YOUNG MARCH 13, 2025 6969-1440 (9.2)

				5) NORTH HOUS	TON TANDEM, INC.	6) TEXAN	DIRT, LLC	7) R CONSTRU	CTION CIVIL, LLC	8) LONGHORN EX	CAVATORS, INC.
											_
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS LS	QTY 1	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$6,900.00	\$6,900.00
	MAINTAIN EXISTING STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00
	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE LIA SURVEYING, INC. FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE HIGH BANK, TOE, OVERFLOW SWALE, STORM SEWER, OUTFALLS, AND SLOPE PAVING AS OUTLINED IN THIS BID PROPOSAL. ANY RESTAKING REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED TO THE CONTRACTORS ON A TIME AND MATERIALS BASIS AND IS SEPARATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$62,800.00	\$62,800.00	\$72,800.00	\$72,800.00	\$62,800.00	\$62,800.00	\$68,454.00	\$68,454.00
4.	DETENTION BASIN AND FILL AS-BUILT SURVEYING, (AS PER LIA SURVEYING, INC.), COMPLETE IN PLACE	LS	1	\$31,800.00	\$31,800.00	\$41,800.00	\$41,800.00	\$31,800.00	\$31,800.00	\$34,662.00	\$34,662.00
	METHOD "A" CONSTRUCTION STAKING BY CONTRACTOR, CONTRACTOR TO USE LIA SURVEYING, INC. FOR CONSTRUCTION STAKING, TO INCLUDE STAKING AT 100' INTERVALS FOR THE FILL OF FUTURE SECTIONS AS OUTLINED IN THIS BID PROPOSAL. ANY RESTAKING REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED TO THE CONTRACTORS ON A TIME AND MATERIALS BASIS AND IS SEPARATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$10,902.00	\$10,902.00
	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$300.00	\$300.00	\$500.00	\$500.00	\$3,900.00	\$3,900.00
	OVER EXCAVATION OF UNSUITABLE MATERIAL PRIOR TO FILL PLACEMENT WITHIN FILL AREAS, INCLUDES EXCAVATION, DEMUCKING, SPREADING OF UNSUITABLE MATERIAL, AND PLACEMENT OF MATERIAL AS FINAL LIFT UPON COMPLETION OF FILL (AS DIRECTED BY THE ENGINEER AND TO BE SURVEYED AND VERIFIED BEFORE FINAL PAYME NT), COMPLETE IN PLACE	CY	10000	\$6.80	\$68,000.00	\$3.00	\$30,000.00	\$4.00	\$40,000.00	\$4.50	\$45,000.00
	ADDITIONAL COST TO SCARIFY FILL AREAS TO RECEIVE FILL TO DEPTH OF 12 INCHES TO AERATE THE SUBGRADE SOILS AND RE-COMPACT TO 95% STANDARD PROCTOR DENSITY (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	10	\$4,132.25	\$41,322.50	\$300.00	\$3,000.00	\$500.00	\$5,000.00	\$1,200.00	\$12,000.00
	ADDITIONAL COST TO SCARIFY FILL AREAS TO RECEIVE FILL TO DEPTH OF 24 INCHES TO AERATE THE SUBGRADE SOILS AND RE-COMPACT TO 95% STANDARD PROCTOR DENSITY (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	10	\$6,737.00	\$67,370.00	\$600.00	\$6,000.00	\$500.00	\$5,000.00	\$3,600.00	\$36,000.00
10.	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$125.00	\$12,500.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$27.27	\$2,727.00
	BROADCAST SEEDING OF ROW OR RESERVES, PROVIDED BY STUCKEYS LLC, MARCH - OCTOBER (WARM SEASON), 50# HULLED BERMUDA, 100# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER	AC	200	\$850.00	\$170,000.00	\$850.00	\$170,000.00	\$850.00	\$170,000.00	\$927.00	\$185,400.00
	BROADCAST SEEDING OF DETENTION POND BOTTOMS, PROVIDED BY STUCKEYS LLC, MARCH - OCTOBER (WARM SEASON), 50# HULLED BERMUDA, 100# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER	AC	28	\$850.00	\$23,800.00	\$850.00	\$23,800.00	\$850.00	\$23,800.00	\$927.00	\$25,956.00 FRN F-138

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LIA ENGINEERING, INC. S. YOUNG

MARCH 13, 2025

				5) NORTH HOUST	ON TANDEM, INC.	6) TEXAN	DIRT, LLC	7) R CONSTRUC	CTION CIVIL, LLC	8) LONGHORN EX	CAVATORS, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
13	HYDRAULIC SEEDING OF DETENTION POND SIDE SLOPES/BACKSLOPE SWALES & RESERVES: INCLUDING (WARM SEASON) SEEDING OF 65# HULLED BERMUDA, 125# MILLET (FOXTAIL / BROWNTOP / (PROSO), 500# 13-13-13 FERTILIZER AND APPLICABLE MULCH PRODUCT RELEVANT TO SLOPE STRUCTURE; SOIL TESTING, AND SOIL AMENDMENTS TO OBTAIN FAVORABLE SOIL CONDITION, PROVIDED BY STUCKEYS LLC, COMPLETE IN PLACE. HYDRAULIC MULCH APPLICATION RATES (BASED ON SLOPE) ARE AS FOLLOWS: >4H:1V AND =3H:1V; 3,500 LB/AC HIGH PERFORMANCE FGM	SY	121000	\$1.90	\$229,900.00	\$2.10	\$254,100.00	\$1.90	\$229,900.00	\$2.07	\$250,470.00
14	SOIL AMENDMENT PROFILE ALLOWANCE (INCLUDES UP TO THE FOLLOWING: APPLICATION RATE OF 5,000 LB/AC SOIL MEDIA SUCH AS PROGRANICS, PROBITIOCS, ORGANIX BIOTIC, OR EQUIVALENT), GYPSUM AT APPLICATION RATE OF 2,500 LB/AC, SLOW RELEASE NITROGEN PRODUCT AT APPLICATION RATE OF 160 LB/AC, LIQUID STIMULANTS AT APPLICATION RATE OF 5 GAL/AC, AND PH ADJUSTMENTS WITHIN 2.5 POINTS), PROVIDED BY STUCKEYS LLC, AS DIRECTED BY ENGINEER AND WHEN AUTHORIZED BY OWNER, COMPLETE IN PLACE	SY	121000	\$2.75	\$332,750.00	\$3.00	\$363,000.00	\$2.75	\$332,750.00	\$3.00	\$363,000.00
15	MONTHLY DETENTION POND MAINTENANCE, INCLUDES WATERING VIA WATER TRUCK, RESEEDING, REGRADING OF REELS AS NEEDED, (MINIMUM 3 MONTHS) (AS DIRECTED B Y ENGINEER), COMPLETE IN PLACE	МО	6	\$13,500.00	\$81,000.00	\$200.00	\$1,200.00	\$2,500.00	\$15,000.00	\$9,000.00	\$54,000.00
SUBTOT	AL BASE BID MISCELLANEOUS ITEMS			_	\$1,138,242.50	_	\$987,500.00	_	\$938,050.00	_	\$1,102,671.00
	ATE ITEMS ALTERNATE NO. 1 ITEMS 32' DEPTH SHEET PILE STRUCTURE (NZ26 OR AZ26-700 OR APPROVED EQUAL), ASTM A-572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOZY FOR THE NOP HALF AND ON BOTH SIDES OF THE SHEET PILE, COMPLETE IN PLACE	EA	1	\$315,340.00	\$315,340.00	\$650,000.00	\$650,000.00	\$750,000.00	\$750,000.00	\$429,201.00	\$429,201.00
2	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	500	\$105.00	\$52,500.00	\$140.00	\$70,000.00	\$100.00	\$50,000.00	\$147.15	\$73,575.00
3	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF CULVERT CROSSING, INCLUDES DEWATERING AND ALL APPURTENANCES (AS DIRECTED BY THE ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$11,300.00	\$11,300.00	\$8,000.00	\$8,000.00	\$25,000.00	\$25,000.00	\$36,900.00	\$36,900.00
4	BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS. (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	14	\$1,146.00	\$16,044.00	\$600.00	\$8,400.00	\$2,500.00	\$35,000.00	\$1,500.00	\$21,000.00
SUBTOT	AL ALTERNATE ITEMS ALTERNATE NO. 1 ITEMS				\$395,184.00		\$736,400.00	_	\$860,000.00	_	\$560,676.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MASS GRADING AND DETENTION TO SERVE THE BRANCHES PHASE 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 219 MONTGOMERY COUNTY, TEXAS MARCH 13, 2025 LIA ENGINEERING, INC. S. YOUNG

MARCH 13, 2025

			5) NORTH HOUS	STON TANDEM, INC.	6) TEXA	IN DIRT, LLC	7) R CONSTRUCTION CIVIL, LLC		8) LONGHORN EXCAVATORS, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BID SUMMARY								·		
BASE BID EXCAVATION ITEMS				\$2,305,593.00		\$2,127,100.00		\$2,493,700.00		\$2,474,463.00
BASE BID DRAINAGE FACILITIES				\$1,574,881.00		\$2,275,070.00		\$2,165,713.00		\$2,359,866.36
BASE BID MISCELLANEOUS ITEMS				\$1,138,242.50		\$987,500.00		\$938,050.00		\$1,102,671.00
TOTAL AMOUNT BASE BID				\$5,018,716.50		\$5,389,670.00		\$5,597,463.00		\$5,937,000.36
ALTERNATE ITEMS										
TOTAL AMOUNT BASE BID				\$5,018,716.50		\$5,389,670.00		\$5,597,463.00		\$5,937,000.36
ALTERNATE NO. 1 ITEMS				\$395,184.00		\$736,400.00		\$860,000.00		\$560,676.00
TOTAL ALTERNATE ITEMS PLUS BASE BID				\$5,413,900.50		\$6,126,070.00		\$6,457,463.00		\$6,497,676.36